ARd -l ¢ TRE - BitEER/IEEIRgE

ZEA - #HARE

!!?1% P N R
[ 2nE| B [cn®| EHE | EE i =ELE
YKK01 YKK11 [ YKLAT[ YKL61| oo T oo K& 33~38HRC — ﬁ /
YKKO02 | YKK12| YKL51 | YKL71 K FEE33~38HRC SEERES50HV ~| BIE R EEEE3~5um \
YKKO03 | YKK13 [ YKL53 [ YKL73 | 20CrMo | SCM420 [BEEXEE56HRC ~ (RE0.8~ 1.2 BB HE0E —
YKKO5 [ YKK15| __ I | P e EKEEES8~61HRC — |
YKKO06 | YKK16 EKFEES8~61HRC EEREE50HY ~| BFE EEEES ~5um e
— — | YKL57 | YKL77 [0Cr18Ni9| SUS304 — — :
YKKO08| YKK18|YKL58 | — |9Cr18Mo|SUS440C YEKEEE48~53HRC — l‘J
1242 [E 2R )y y
YKK01/02/03/05/06/08 g B EhRE ¥
YKK11/12/13/15/16/18 1 M T A
3 B }f ® [O[@003[A]
R o, % =
° /4
HEHHET
— i
e | B |3 L
O e=P/2+tan15°+R-(R+sin15°)
LEapiReen FRELE BERELE -
YKL41/51/53/57/58 Ea : . [EAY HERIE
YKL61/71/73/77 g
v ﬂ
® o _I
e < )
| S-0.15 (W) | S-015 ]
O ITZAMIEMN: P-B24ER23, (TZFFEARTHF=REN) Mo S—0m
@ e E e
BHE ROVEMO0A | F/NRU0.1 | S/VERA
[ieE] Dh7 P B L \% S R M w
7 7 6 oz 3.0~8.0 10~16 5 9 1 M3 1~2
\EKM Ygﬁﬂ 8 . 3.0~10.0 12~20 6 11 15 M4 1~2
YKKO02 YKK12 10 0,015 4.5~12.0 | 2.0~35.0 ¥5~20 3 13 2 M5 1-3
YKK03 YKK13 10T (B<Px4) 18~20 8 13 2 M6 1~3
YKKO05 YKK15 12 0 7.0~14.0 = 15~20 8 15 3 M5 4
YKKO06 YKK16 16 -0.018 13.0~18.0 21~32 12 19 4 M8 5
YKKO08 YKK18 20 8021 16.0~22.0 21~40 12 23 4 M8 5
© WRD6, D8: P>5.08f, W=2; D10, 10T: P<5.06f, W=1, P=5.0~7.0Rf, W=2, P>7.08fW=3,
[OfI==)}:>¢7%: ]
BE /(0.1 BB BB < d R =R W
K1 Dg6 P B L T AF7iRse
~0.004 — —
EE  ZmE 6 888 3.0~7.0 | 2.0~28.0 512 9 4 1 M5 12)
8 ~0.005 3.0~9.0 | 2.0~35.0 8 11 5 1.5
X&tg} m'[ﬂ 10 -0.014 5.0~12.0] , o .0 8~17_| , o 10.0 13 7 2 M6 2(3)
YKL53 YKL73 12 -0.006 7.0~13.0] ~ : 10~20 : : 15 9 3 4
YKL57 YKL77 16 20017 [13.0~16.0 12~22 10 19 13
YKL58 20 39 [16.0~20.0] >97350 45735 23 17 < S 3
O #( )WRD6-D8: P>5.08F, W=2; D10: P>78F, W=3,
| (Y E] BARGEA (Y E] B GEEA
1B EIEsE wHI75E| HC bt ES T HHRFTE TC
AT O EBERER. . O ZHRERER,
O FREESTHEMTTCHA. t | _s[s[[ra]1s[1e]2s
HC si] 7| 8]11]13]17]21
FHEF LR RB() A% RB1
rRe() [ |oz=EnmsR
FEHEME RS TE KC “'T AR —: R1. R2. R3,
00° @ REEAER0°, FERIOH ° @B25
‘e K o {uﬁﬂu\lﬁ%ﬁiﬁ& TEAS LR o AG60
0 EEARER. AG() —/ O S/NBRI30°
[ & EE60°~120°
@ e E e Ofla=)L:-¢7%i ]
S B/NE0 1 | B /N0 | B /INEE70.1 =] BNER0A | B/NERA [BNERO A
@ V] %5 P B L ] 2;; P } B L T =
YKKD1 3B 10~76 XRLAY &> | 2=78 —=
YKK02 [ 8 310 =35 12=20 YRL51 [ 8 [ 3-9 [2-35] 5 =10 1 i [ 100% | B4R
BIRETIR  YKKO1—D6—P6 —B3—L15 YKL41—D6—P3—B8—L5—T5 KN GT)
@ TJEmT
{t‘ﬁéﬂ% — E’J\%MOJ ﬁdxifum %/J\Elif\im p——— 7)31_3

YKK01—D6 —P6 —B3—L15—RB1 @f%ﬁ&tiﬁ

) BRELE



	页 5

